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18.A

Uses of Ha + BuHutenbHbIn: For

Let’s review various verbs and nouns that combine with Ha + accusative with the meaning for:

%

pacnucaHue Ha (3aBTpa/IATHHILY/30MY )
Kakoe y Te04 pacnucanue Ha cpémy?

HaaéxKaa Ha (Oymymee/mooemy)
Het HuKako# Hagé)abl Ha MOOETy!

ONMA3ALIBAI+ // oI031Aki+ HA (3aHATHE/KOHLIEPT)
OH Bceraa ona3apIBacT Ha 3aHATHA.

€CTh Ha (3aBTpaK/00¢/yKIH)
OOBIYHO 1 eM GOJIBIIYIO TAPENIKY KAIIM Ha 3aBTPaK.

A€HbTH HA (TM0E3AKY / OMIET / MAIIAHY )
OTKyaa THI B3I IEHBTH Ha OHICTEHI?

KOMHATA HA 0JTHOT0 YeJIOBEKA

B obmexnATHAX B Poccin MpakTHYECKT HET KOMHAT
Ha OJTHOTO CTyIEHTA.

< I3 r v
aapu+ // mo- komy 4to Ha (cBaan0y/Hoprli 1'om)
On nmogapun MHe «Mepceaéc» Ha IeHb POKICHHS.

MepeBeanTe Ha PycCKUNM.

1. I gave him money for vodka. 2.

3. What did you eat for breakfast yesterday?

5. T am never late for a date.

schedule for (time period)
What’s your schedule for Wednesday?

hope for (future; event)
There’s no hope for victory.

be late for (event)
He’s always late for class.

eat for (meal)
Lusually eat a big bowl of hot cereal for breakfast.

money for (thing)
Where did you get the money for the tickets?

room for one person (Stick with one person for
now)

In dorms in Russia there are practically no
singles.

give someone something for (occasion)
He gave me a Mercedes for my birthday.

I want a room for one person.
What’s your schedule for tomorrow?

What do you plan to give our Russian teacher for

his birthday?

7. He has no hope for the future. 8.
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Where will he get the money for a new car?
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18.6 Approximation: Move Noun in Front of Number (and Preposition)

Recall that in Russian it’s possible to move the noun directly in front of the number to express approximation. In
the examples below, we’ll indicate the original position of the noun by [noun]:

Tawm 65110 COOAK MATHACCAT [noun). There were about 50 dogs there.

V Herd KHWT TATHCOT [noun). He has about 500 books.

Sror (hoToanmapat croOuT pyoseii ABECTH [noun. That camera costs about 2000 rubles.
Mps1 Kymim OYTBUTOK TECATH [noun]| KPACHOTO BUHA. We bought about 10 bottles of red wine.

Note that in the last example only the noun itself (6yTpLiIKa) moves; the adnominal genitive phrase (kpacHoro
BHHA) remains in place.

When the number ends in 2, 3, 4 you must keep the noun in the genitive singular (we’ll review numbers later on,
but recall that after 2, 3,4 the noun appears in genitive singular). In other words, don’t touch the form of the
noun:

Ms1 mpoBen# Heaénu aBe [noun) B [apioke. We spent about 2 weeks in Paris.

B mocnéanee BpéMA i CIUIIO Yaca TpH [noun| KAKIYH  Lately I've been sleeping about 3 hours a night.
HOYb.

Ontt xxunmm B JIOHAOHE roma YeThIpe [noun]. They lived in London for about 4 years.

When the number phrase is the object of a preposition you must move the noun in front of the preposition.
(Remember, nothing comes between a preposition and its complement.)

MBI JIerii 94acOB B IIeCTh [noun]. We went to sleep around 6:00.

S BepHyCH yaca uépes aBa [noun]. I'll be back in about 2 hours.

Onn yéxaad B MockBY Mécslla Ha YeThIpe [noun). They went to Moscow for around 4 months.
18.b.1 When movement of the noun is restricted

There are several cases where this approximation construction is restricted. For now, we’ll simply list these
cases, and later on we’ll explain some of the strategies you can take to express approximation with these.

Can’t Move Noun in Front of Number for Approximation

1) When the number ends in any for of 0dun
2) When the noun is modified by an adjective
3) When a preposition governs a case other than accusative

4) When any form of msicsaua or munnuon is involved

(Believe us, this whole thing can get quite complicated. For now, just stick to “basic” approximation phrases like
aéanapos cOpok; yaca uépes aBa, etc.)
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@ MepeBeanTe Ha PYCCKUN.

She has around 200 books. We went to sleep at around 4:00.

His computer costs around $800. We spent around 3 weeks in Munich.

She drank (srimmia) about 10 glasses of water.

A

1
3
5. She usually gets home from work at around 10PM.
7

There were around 50 tigers at the performance. She’ll arrive in around 2 hours.

18.B The Genitive Plural of YenoBék: YenoBék

When the noun 4eoBék is used with a number > 5, the genitive plural form is not 1roxéii, but wesmoBék, which is
identical to the nominative singular. (Note that the noun pa3 also has a genitive plural form that is identical to the
nominative singular.) Of course, with numbers ending in 1 use 4es0BEK, and with 2, 3, 4 use 4esloBéKA.
Genitive plural 4esoBék is also used with the question word ekéJbKko.

Generally, a neuter (singular) verb is used with numbers = 5 (as well as the “quantifier” cko1pko), though this
can get rather complex (depending on word order, the type of verb, and what is being emphasized). With
numbers ending in 2-4 a plural verb is used, while with numbers ending in 1 a singular verb is used:

Bo BP’éMﬂ BOIHBI H’OH”I6H0 IPUMEPHO IBA/IIATH During the war about 20 million people perished.
MMWJJNINOHOB YCJIOBCK.

Tam 6y et 4emoBEK COPOK. There will be about 40 people there.

CKONBKO YeIOBEK MPUTILIO? How many people came?

Tombko 1Ba Ye10BEKa NPHILLTH Ha JIEKIIHIO. Just two people came to the lecture.

Ha criekTakie GBI CTO OTHH MeTOBCK. There were 101 people at the performance.

@ MepeBeanTe Ha PYCCKUN.

1. There were about 100 people at the concert. 2. Four people fell asleep at the lecture.

3. Forty-one people arrived from Petersburg. 4. How many people were at the party?

5. There will be about 500 people at the wedding. 6. Twenty-two people noticed him.

7. Around 50 people perished during (Bo Bpéms + 8. Suddenly 101 people got up and left (Beime+ (€))
genitive) the earthquake (zemierpsicéane). the auditorium.
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18.1

Some Reminders That Pycckun # English

Here are a few sentences we’ve had over the past week that illustrate some of the ® many unpredictable (and
unsystematic) ways in which Russian and English differ. Our main point here is that in your translations you
need to think “How would I express this idea in English?”” This is not always easy, but you surely realize by now
that very often a word-for-word translation between the two languages just won’t work.

Pycckun

“Best” English Translation

Difference / Problem

OH guTaeT NEKITUHN JOBOIBLHO CKYIHO.

He’s a really boring lecturer.

Russian can make an adverb from
bored, while English cannot.

JIéabru emé He BCE.

Money isn’t everything.

Russian mouemy-To requires emié.

...TPOKIAHCKAs BOWHA B AMEpPHKE. ..

...the American Civil War...

In this case, Russian does not like
making an adjective out of America.
How to predict? Ask us.

Ha sk3aMeHax Bce BOIPOCH OBLIH IO
KHATaM.

On the exams all the questions were
about the readings.

You really can’t say questions about
books,; readings sounds better to us.

18.0

Three Little But Tricky Words: U, A, HO

Let’s review (once again) how these three small but tricky conjunctions are used in Russian.

L |

H is used to link two non-contradictory notions, and always corresponds to English and.

OH YMHBIH H KpacHBEIH.

S kymina Xne6 1 MOJIOKO.

Bépa u Cama urparmT B OIAXMaThL

To say both...and, used u...u:

OH 3HAET U PYCCKUH H HEMEIKHI.

W Mama u Caia 3acHY/IH Ha JISKITHH.

He’s smart and good-looking.
1 bought bread and milk.
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Vera and Sasha are playing chess.

He knows both Russian and German.

Both Masha and Sasha fell asleep in the lecture.
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e A
A can appear as several different words in English (and in some cases, as no word at all).

1) A is often used when presenting people, things, and is translated and.

Oto BT, a 3710 €T0 keHa. This is Vitva, and this is his wife.
3mech Y MeHS CTOMT KOMIIBIOTED, a PSAOM IpUHTED. My computer is here, and next to it is my printer.
Xopomod. DTo TH, a 3T0 KTo? OK. (Iunderstand.) That’s you, and who is that?

In the first two sentences, it is not impossible to have u, but a is much preferred.

2) A is used to link two phrases which are in contrast but not contradiction with each other. This use of a can be
translated and or but — depending on the strength of the contrast. (Often this use of a corresponds to

whereas.)
OH MOJI070H, a OHA cTapas. He’s young and (whereas) she is old.
Panpmie oH MHOTO IIHJI, a TEIEPh OUSHB MAJIO. He used to drink a lot, but (whereas) now he
(drinks) little.
DT0 KOIKa, a 3T0 co0aKa. This is a cat and that’s a dog.

In the last example, because of the nature of cats and dogs, a definite contrast is felt. In the examples in 1), there
is no contrast at all felt between the computer and the printer (or between Buits and his wife).

3) A isused when a positive statement is contrasted with a negative statement and is translated either but or and,
depending on the syntax:

OH He pa0bOTaeT, a CauKyeT. He’s not working, but goofing off.

Mrnra aypak, a He TEHHH. Misha is a fool and not a genius.

4) In some cases a has no translation in English; it is used simply to move conversation along. (Sometimes so is
a close approximation.)

MeHn4 30ByT MAma. A kak Bac 30BYT? My name is Misha. What’s your name?
— V Heé B O0IIEKATHHA CBOSI KOMHATA. — She has her own room in the dorm.
— A y Hac B Poccin 3T0T0 TIpaKTUYECKU HET. — In Russian that is almost unheard of.
A Kak Tam OBLTO? So, how was it there?
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 Ho

Ho is reserved for rather sharp contrasts or contradictions, and is almost always translated but.

OH Bc€ BpéMS 3aHUMACTCA, HO TIOIYJAeT TUIOXUS He studies all the time but gets bad grades.

3aMETKH.

OH YMHBIH, HO He OUeHb KpacHBHIH. He’s smart but not very attractive.

Omna Bcé mpounTaia, HO HHIero He IOHIA. She read everything but didn’t understand
anything.

O0¢&m OBLT MOTPACAIOIINI, HO TaKOH TOporoit! Dinner was fantastic but really expensive.

S Te6s1 6ueHD MOOIIIO, HO MBI He MOKeM OBITh 1 love you very much, but we cannot be together.

BMEcTe!

UéctHo rosops, the use of these three conjunctions is more complicated than what we have presented here. In
many cases more than one of the words is possible. Both a and Ho are often possible in the same context, the
choice depending on the strength of the contrast. Our suggestion: Learn what’s here and keep you eyes and ears
open for how Russian writers and speakers use these words.

@ MepeBeawnTe Ha pycckuit. Be sure to note which conjunction is used.
1. This is my despicable professor, and this is his 2. He’s sleeping not working.
wife.
3. My name is Natasha. What’s your name? 4. Gleb is not a genius but (rather) a fool.
5. He’s young and rich. 6. Kolya goes to Princeton, and Vera to Harvard.
7. He’s rich, but not very generous. 8. Both Nina and Vitalik got drunk.
9. He works like a dog but earns little. 10. So, how was it there?
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18-i ypok — lomallHee 3agaHue Umsa

25 YnpaxHéHue 1 OTBETbTE Ha BOMPOCHI MO PACCKA3Y:

1.

10.
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18-i ypok — lomallHee 3agaHue

2 YnpaxHénue 2 [lepeBeqyTe Ha PYCCKUIA:

1.

I don’t know squat about the American Civil War.

We nearly fell asleep at the lecture.

He has around 300 dictionaries.

There were around 100 people at the performance.

No one noticed me at the party.

Did you write down his telephone number (number of telephone) ?

2 YnpaxHéHue 3

1.

S nrobiro

S yaycs B llprHCcTOHE,

Omna paHo J1erna,

Fill in the blanks with either a, u, Ho:

¢$punocopuro, HUCTOPHIO.

Mo4 cecTpa B bpayne.

HE MOI'JIA 3aCHYTb.

OH =He paboOTaer,
S10 Kocrs,

1o Kbers

OH MHOI'0O YUTAeT,

Memns 30ByT JIt006a.

VUHATCA.

310 er6 métH. (comma after Kocts!)

erd nétu. (no comma after Kocrs!)

BcE€ paBHO OH OUCHb TIIYTIBIH.

KaK Bac 30ByT?
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8- ypok — [lomallHee 3agaHue Umsa

Kaxoe y "Tlona pacnuicanue Ha 34BTpa?

[Touemy HHKTO He 3aMETHT bopio Ha nepBoi JIeKIuu?

Kakoit kypc Ilony HpaBuTCs, a Kakoil HeT?

[Touemy eMy He HPaBHUTCS HCTOPHSA?

Yro bops gymaer o Mesnucce?

O uem bops cupanmsaet [Toaa nocne Vcropuu?

ITouemy Ilon HUYero He 3alMChIBAN?

ITouemy Ilon X0AUT Ha BCe JNEKITUU?

Bcee crynenTsl B Poccun Beeria Xo/sT Ha Bee JTIeKIun?

_‘\’39".\153\9‘:59’!\’._‘

0 Kak bops cobupaercst momous Ilony ¢ ero pycckum?
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